Practice
Expressions: Radicals

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again.

For problems #1-10:
Simplify without using a calculator. If answers contain exponents, make sure they are positive.
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For problems #11-14: Rewrite using exponents:
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For problems #15-20; Simplify completely and leave in radical form:
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For problems #23-24: Rationalize the denominator and simplify:
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For problems #25-26: Use a conjugate to simplify:
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For problems #27-34: Simplify and leave in radical form:
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For problems #35-36: Rewrite in fully simplified radical format (using no exponents):
7

!
#35) 62 #36) 502



For problems #37-45: Simplify:
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#1) 2 11 6 #21) (Vea) 1) i% #41) 1543
#2) 125 #12) 7 #22) ‘—[55- #32) 234 #42) 42
#3) 1024 #13) 145 #23) 35‘/-5- #33) -533 #43) 1842
#4) 8 #14) 6 #24) g #34) 2463207 #44) 2
#5) 4 #15) 3 #25) 245+2 #35) 2166 #as5) 3
#6) —18 #16) 4 #26) 6‘3‘5 #36) 542

#7) s #17) 3045 #27) 72 p'|V2a  #37) 11417

#8) 4 #18) 803 #8) 5 #38) 6

#9) —g- #19) 3042 -30 #29) 6 #39) 57 -2

w0y 4 #20) 182 +10J6  #30) -3 #40) 12411

125



Solutions:
Tror problems #1-10:
Simplify without using a calculator. 1f answers contain exponents, make sure they are positive.
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For problems #11-14: Rewrite using exponents;
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For problems #15-20: Simplily completely and leave in radical form:

i5) ‘—J@ #16) % 17 (3J§)(5J—)
\I/_E" 5 ﬁ}ﬁ* UE_%_: (5)5‘)\[’ Zz {10
i z Is {zo
JA s anather i s (s
T "fﬁ;’ > 7 is{2s
3Ys) _ 6(0\ l?;o{? l
(«—?—- - E /]711.5 %’/__\ - P
#18) (8\/5)(7i Jis) 19) 35 (2410 -245) 120) sz(SJEﬁ\/E)
16 VEE [35;1"4?0 ‘5_3"/})(?-‘1?) e(v}? N
{50 =&l blalz +iols
lb/‘ \l?ﬂ/} blzslz —6 () é(z)‘?i,:m‘lz

16 ()5 LIHE =%
2 (22632 [BEree]

4
#121) Convert 64* to radical form 22) Write in simplified radical form L
O JE] s
(2(50) (iHohesitsay s o5
o si 41’11%) F G s
For problems #23-24:  Rationalize the denominator and simplily:
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For pr Dbltlll& #25-26: Usc a conjugate to simplify:
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FFor problems #27-34:  Simplify and leave in radical form:
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For problems #35-36:  Rewrite in fully simplified radical format (using no exponents):
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For problems #37-45:  Simplify:
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